
Language patterns 9: not only … 

Upper Intermediate Unit 14 

 

A Write the sentences in the box in your own language in the answer section below. 

1 Not only does the advertising of lotteries tend to obscure this tiny chance, it also sends 

a subtle message … 

2 Not only do lotteries damage society in this way, they also bring pain to individuals.  

3 It not only causes pain to the gambler, but also hurts their family and friends.  

4 They not only gave him food, they gave him money, too.  

5 Not only does it support a good cause, but it’ll be fun, too! 

 fold 

 

1 ____________________________________________________________________ 

2 ____________________________________________________________________ 

3 ____________________________________________________________________ 

4 ____________________________________________________________________ 

5 ____________________________________________________________________ 

B If possible, work with a partner who has the same first language. Compare the 

sentences you wrote above.  

C  Fold the page at the dotted line above. Without looking at the sentences in the box, 

translate your sentences back into English. 

1 ____________________________________________________________________ 

2 ____________________________________________________________________ 

3 ____________________________________________________________________ 

4 ____________________________________________________________________ 

5 ____________________________________________________________________ 

 

Outcomes 


